Quiz 8 ' MATH 2162.02

RECITATION TIME: NAME:

‘Problem 1.(5 points) Consider the vector field F = (z*siny, z2%cosy, 2zzsiny).

(a) (3 pts) Compute the curl V x F.
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(b) (2 pts) Let C be the curve given by r(t) = (cost, sint, 5) for 0 < ¢ < 2.
Use part (a) to evaluate the following line integral. Do NOT use Stoke’s theorem.
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Problem 2.(5 points) Consider the vector field F =

(a) (2 pts) Compute the two-dimensional curl of F.
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(b) (2 pts) Use the parametrization r(t) = (cost,sint), 0 < ¢ < 27, to compute
circulation of F along the unit circle centered at the origin.
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(c) (1 pt) Explain why (a) and (b) do not contradict Green’s Theorem.
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